Sequence and Series 4.2 Q.1,3 &4 January 31, 2013

Exercise 4.2
1. Find 7, the nth term of the following arithmetic sequences.

Hence find 75, for each sequence.

(i) 16, 36, 56, 76, ... Gii) 10, 7 4, 1, ...

(i) 8, 13, 18, 23, ...

Q) g,13,1%,23, ...

a=% a=5

r

Ta=za+(n-1)4 Tu=8+-)5 =% +5n-6
Tu= % +Sn

=12 > | T.=3+S(M2) =13 7

¢ 6, 36,50 3L ...

a= |6t , d= 2

lb "'3—0\.\ - 2o

Ta = a+(n-0d Ta = b+ (n-1)20
Tw = —4 +20n

nerr 3| T = —bt+ 220(2) =430 v

Exercise 4.2
1. Find 7,,, the nth term of the following arithmetic sequences.

Hence find 75, for each sequence.

(i) 8, 13, 18, 23, ... (i) 16, 36, 56, 76, ... Gii) 10, 7 4, 1, ...

i) o, 3,4 ,1

A =)o d= -3%
Tn=a+ (1-Ddl Th= o+ (n1)(-3) = (o -3n+73
Th= 12 = 3n

n=1 T = 12-3(2) = -52 »
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3. Find the number of terms in each of the following arithmetic sequences:
G) —5, —1,3, 7......75 (ii) 2.5, 8, 11,......59 Gii) —2. —1, =1 0,...... 14
)
a= -5 d=U4 Ty\f_?’g y\:.?

5 3= =S+ (a-0)Y

=-S5 +¢,-4
K= -G 44,
B = 4n

Ll =N

%-31’7§
n > -Sthde=3 /

check:

3. Find the number of terms in each of the following arithmetic sequences:

(i) —5, —1,3,7......75 (i) 2.5, 8 11,......59 (i) —2, —1, —1, 0,...... 14
)
n=" a= 2 d= , Tw=619 ] n=7?
Ta= a + (n-1)d 5922+ (n-)3
-2 5F=(h-1D3
CKpamd SF = 3—-3

+3 tb6 = 23

+3 20 =
> _r_;_a = 59 /
check: TZD = 1+ (’7)2 = 57
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3. Find the number of terms in each of the following arithmetic sequences:
(i —5 —1,3.7......75

January 31, 2013
(i) 2, 5,8, 11,...... 59 (iii) f%, —1, 7%, O, ...... 14.
)
n=71 3 L
a=-3 ,d=3 , Th=m4 ,n=7
Ta= a+ (V\'\)d > 4= -2 + (ueIXJ{B
Xz 29 = -3 'f'(’l-’l)l
+3 2l = he-|
+ | 32 = I
9 T, =4 /
L
check: Ty, = "3’7_ + (3!)( 3—) =4 /
4. In an arithmetic sequence, 7; = 4 and 7; = 22. Using simultaneous equations, find
(i) the values of @ and d (ii) the first five terms of the sequence
a=7 ®

(i) Tao-

N
=

=a="Y /

e

= 22
Tp= atln-1)dl

S 22= 4+ (?-1)d
-4

[ = 6d
=6 3=4d v/
First 5 Terms 7 4D] L"’ :}'—|IO ,|3"é /
Count up in 3's from 4
T

simplify rule for Tn

Th = ¥+ (-3

T =t +H19)3> = 4l
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